

CITY OF MIDDLETOWN, CT
 Department Review Report
 Bid# 2021-021 PURCHASE OF PIPING, HYDRANTS, MANHOL

#	Description	Qty	CORE & MAIN LP NEW BRITAIN, CT		UNITED CONCRETE PRODUCTS, INC. YALESVILLE, CT	
			Unit-Price	Extension	Unit-Price	Extension
1	2 PIECE CAST IRON GATE BOXES (INC. 5-1/4" COVERS), SLIP TYPE (26" TOP SECTION, 36" BOTTOM SECTION & COVER) SIMILAR TO TYLER UNION 7126	100.00	118.32	11,832.00	0.00	0.00
2	26" SLIP TYPE, CAST IRON GATE BOX, TOP SECTION ONLY	25.00	53.81	1,345.25	0.00	0.00
3	36" SLIP TYPE, CAST IRON GATE BOX, BOTTOM SECTION ONLY	25.00	50.19	1,254.75	0.00	0.00
4	CAST IRON GATE BOX, COVER ONLY	25.00	14.32	358.00	0.00	0.00
5	GATE BOX EXTENSION SIZE 5 1/4 X 24" LESS COVER TYLER UNION 69A SLIP RISER	25.00	46.15	1,153.75	0.00	0.00
6	6" VALVE BOX ADAPTOR II (ADAPTOR, INC OR APPROVED EQUAL)	20.00	39.00	780.00	0.00	0.00
7	8" VALVE BOX ADAPTOR II (ADAPTOR, INC OR APPROVED EQUAL)	20.00	39.00	780.00	0.00	0.00
8	1" FORD OR MUELLER STOPS, FORD FB-1000G OR MUELLER H15008 1" COPPER TUBING, BALL TYPE, FULL PORT NO SUBSTITUTES	200.00	69.14	13,828.00	0.00	0.00
9	1" FORD OR MUELLER BALL VALVE CURB STOPS, FORD #B44-444G OR MUELLER B25209 FOR 1" COPPER TUBING, FULL PORT, NO SUBSTITUTES	200.00	111.25	22,250.00	0.00	0.00
10	4" SMITH BLAIR 442 CAST COUPLING, CAT. #442-00000510 OR AS REQUIRED	6.00	124.24	745.44	0.00	0.00
11	6" SMITH BLAIR 442 CAST COUPLING, CAT. #442-00000722 OR AS REQUIRED	6.00	148.50	891.00	0.00	0.00
12	8" SMITH BLAIR 442 CAST COUPLING, CAT. #442-00000930 OR AS REQUIRED	6.00	197.60	1,185.60	0.00	0.00
13	10" SMITH BLAIR 442 CAST COUPLING, CAT. #442-00001160- 400 OR AS REQUIRED	6.00	391.76	2,350.56	0.00	0.00
14	12" SMITH BLAIR 442 CAST COUPLING, CAT. #442-00001350- 400 OR AS REQUIRED	4.00	444.94	1,779.76	0.00	0.00
15	16" SMITH BLAIR 442 CAST COUPLING, CAT. #442-00001780- 400 OR AS REQUIRED	4.00	633.29	2,533.16	0.00	0.00
16	4" 226 SMITH BLAIR FULL CIRCLE CLAMP COUPLING SINGLE BAND CAT. #226-00048015-000	4.00	121.60	486.40	0.00	0.00
17	6" 226 SMITH BLAIR FULL CIRCLE CLAMP COUPLING SINGLE BAND, CAT.#226-00069015-000	10.00	130.75	1,307.50	0.00	0.00
18	8" 226 SMITH BLAIR FULL CIRCLE CLAMP COUPLING SINGLE BAND, CAT.#226-00090515-000	4.00	142.82	571.28	0.00	0.00
19	10" 226 SMITHBLAIR FULL CIRCLE CLAMP COUPLING SINGLE BAND, CAT.#226-00111015-000	4.00	178.32	713.28	0.00	0.00
20	12" 226 SMITHBLAIR FULL CIRCLE CLAMP COUPLING SINGLE BAND, CAT.#226-00132015-000	4.00	205.47	821.88	0.00	0.00
21	4" 227 SMITH BLAIR FULL CIRCLE CLAMP COUPLING DOUBLE BAND, CAT.#227-00050015-000	2.00	205.09	410.18	0.00	0.00
22	6" 227 SMITH BLAIR FULL CIRCLE CLAMP COUPLING DOUBLE BAND, CAT.#227-00069015-000	2.00	214.79	429.58	0.00	0.00
23	8" 227 SMITH BLAIR FULL CIRCLE CLAMP COUPLING DOUBLE BAND, CAT.#227-00090515-000	2.00	232.27	464.54	0.00	0.00
24	10" 227 SMITHBLAIR FULL CIRCLE CLAMP COUPLING DOUBLE BAND, CAT.#227-00111015-000	2.00	266.32	532.64	0.00	0.00
25	12" 227 SMITHBLAIR FULL CIRCLE CLAMP COUPLING DOUBLE BAND, CAT.#227-00132015-000	2.00	298.88	597.76	0.00	0.00
26	16" 228 SMITHBLAIR FULL CIRCLE CLAMP COUPLING DOUBLE BAND, CAT.#228-20171515-000	2.00	425.52	851.04	0.00	0.00
27	6" TOTAL PIPING SOLUTIONS, INC., QUICK-SLEEVE BELL JOINT REPAIR	10.00	1,029.06	10,290.60	0.00	0.00
28	8" TOTAL PIPING SOLUTIONS, INC., QUICK-SLEEVE BELL JOINT REPAIR	10.00	1,254.42	12,544.20	0.00	0.00
29	10" TOTAL PIPING SOLUTIONS, INC., QUICK-SLEEVE BELL JOINT REPAIR	10.00	1,589.28	15,892.80	0.00	0.00
30	12" TOTAL PIPING SOLUTIONS, INC., QUICK-SLEEVE BELL JOINT REPAIR	10.00	1,692.40	16,924.00	0.00	0.00
31	MUELLER SUPER CENTURION FIRE HYDRANT, CAT. #A421, 4-1/2", THREE-WAY, 5 FT BURY, OPEN LEFT, LESS ACCESSORIES, NO SUBSTITUTES	50.00	2,024.68	101,234.00	0.00	0.00
32	MUELLER SUPER CENTURION FIRE HYDRANT, CAT. #A421, 4-1/2", THREE-WAY, 5-1/2 FT BURY, OPEN LEFT, LESS ACCESSORIES, NO SUBSTITUTES	1.00	2,061.36	2,061.36	0.00	0.00
33	6" MUELLER HYDRANT EXTENSION KIT, CAT. #A-319, NO SUBSTITUTES	10.00	463.87	4,638.70	0.00	0.00
34	1" MUELLER HYDRANT EXTENSION KIT, CAT. #A-319, NO SUBSTITUTES	10.00	539.47	5,394.70	0.00	0.00
35	1'-6" MUELLER HYDRANT EXTENSION KIT, CAT. #A-319, NO SUBSTITUTES	10.00	584.46	5,844.60	0.00	0.00

CITY OF MIDDLETOWN, CT
 Department Review Report
 Bid# 2021-021 PURCHASE OF PIPING, HYDRANTS, MANHOL

#	Description	Qty	CORE & MAIN LP NEW BRITAIN, CT		UNITED CONCRETE PRODUCTS, INC. YALESVILLE, CT	
			Unit-Price	Extension	Unit-Price	Extension
36	MUELLER SUPER CENTURION FIRE HYDRANT, SHOE REPAIR KIT, NO SUBSTITUTES	10.00	271.84	2,718.40	0.00	0.00
37	MUELLER SUPER CENTURION FIRE HYDRANT, SAFETY FLANGE REPAIR KIT, NO SUBSTITUTES	10.00	203.19	2,031.90	0.00	0.00
38	6" MUELLER, KENNEDY OR CLOW M.J. R.S. GATE VALVES (OPEN RIGHT), LESS ACCESSORIES	10.00	550.56	5,505.60	0.00	0.00
39	8" MUELLER, KENNEDY OR CLOW M.J. R.S. GATE VALVES (OPEN RIGHT), LESS ACCESSORIES	10.00	876.84	8,768.40	0.00	0.00
40	10" MUELLER, KENNEDY OR CLOW M.J. R.S. GATE VALVES (OPEN RIGHT), LESS ACCESSORIES	1.00	1,358.12	1,358.12	0.00	0.00
41	12" MUELLER, KENNEDY OR CLOW M.J. R.S. GATE VALVES (OPEN RIGHT), LESS ACCESSORIES	1.00	1,717.96	1,717.96	0.00	0.00
42	6" MUELLER, KENNEDY OR CLOW M.J. R.S. TAPPING VALVES (OPEN RIGHT), LESS ACCESSORIES, MUST ACCEPT FULL SIZE CUTTER	10.00	768.83	7,688.30	0.00	0.00
43	8" MUELLER, KENNEDY OR CLOW M.J. R.S. TAPPING VALVES (OPEN RIGHT), LESS ACCESSORIES, MUST ACCEPT FULL SIZE CUTTER	10.00	1,135.75	11,357.50	0.00	0.00
44	12" MUELLER, KENNEDY OR CLOW M.J. R.S. TAPPING VALVES (OPEN RIGHT), LESS ACCESSORIES, MUST ACCEPT FULL SIZE CUTER	10.00	2,579.56	25,795.60	0.00	0.00
45	6" X 6" TAPPING SLEEVE, TPS TRIPLE TAP, SMITH BLAIR 665	4.00	550.28	2,201.12	0.00	0.00
46	8" X 6" TAPPING SLEEVE, TPS TRIPLE TAP, SMITH BLAIR 665	8.00	620.12	4,960.96	0.00	0.00
47	8" X 8" TAPPING SLEEVE, TPS TRIPLE TAP, SMITH BLAIR 665	4.00	870.41	3,481.64	0.00	0.00
48	10" X 6" TAPPING SLEEVE, TPS TRIPLE TAP, SMITH BLAIR 665	4.00	729.49	2,917.96	0.00	0.00
49	10" X 8" TAPPING SLEEVE, TPS TRIPLE TAP, SMITH BLAIR 665	4.00	923.56	3,694.24	0.00	0.00
50	12" X 6" TAPPING SLEEVE, TPS TRIPLE TAP, SMITH BLAIR 665	4.00	767.56	3,070.24	0.00	0.00
51	12" X 8" TAPPING SLEEVE, TPS TRIPLE TAP, SMITH BLAIR 665	8.00	961.16	7,689.28	0.00	0.00
52	16" X 8" TAPPING SLEEVE, TPS TRIPLE TAP, SMITH BLAIR 665	4.00	1,313.62	5,254.48	0.00	0.00
53	6" EBAA MEGALUG 1100 OR FORD 1400 UNIFLANGE RESTRAINTS GLANDS WITH ACCESSORIES	100.00	47.71	4,771.00	0.00	0.00
54	8" EBAA MEGALUG 1100 OR FORD 1400 UNIFLANGE RESTRAINTS GLANDS WITH ACCESSORIES	100.00	66.24	6,624.00	0.00	0.00
55	10" EBAA MEGALUG 1100 OR FORD 1400 UNIFLANGE RESTRAINTS GLANDS WITH ACCESSORIES	100.00	94.58	9,458.00	0.00	0.00
56	12" EBAA MEGALUG 1100 OR FORD 1400 UNIFLANGE RESTRAINTS GLANDS WITH ACCESSORIES	100.00	127.30	12,730.00	0.00	0.00
57	16" EBAA MEGALUG 1100 OR FORD 1400 UNIFLANGE RESTRAINTS GLANDS WITH ACCESSORIES	10.00	226.03	2,260.30	0.00	0.00
58	6" EBAA SERIES 1700 JOINT RESTRAINTS OR FORD 1450 JOINT RESTRAINTS	10.00	82.27	822.70	0.00	0.00
59	8" EBAA SERIES 1700 JOINT RESTRAINTS OR FORD 1450 JOINT RESTRAINTS	10.00	104.49	1,044.90	0.00	0.00
60	10" EBAA SERIES 1700 JOINT RESTRAINTS OR FORD 1450 JOINT RESTRAINTS	10.00	172.35	1,723.50	0.00	0.00
61	12" EBAA SERIES 1700 JOINT RESTRAINTS OR FORD 1450 JOINT RESTRAINTS	10.00	214.65	2,146.50	0.00	0.00
62	16" EBAA SERIES 1700 JOINT RESTRAINTS OR FORD 1450 JOINT RESTRAINTS	10.00	481.14	4,811.40	0.00	0.00
63	6" M.J. RETAINER GLANDS-MEGALUG	50.00	31.71	1,585.50	0.00	0.00
64	8" M.J. RETAINER GLANDS-MEGALUG	50.00	48.39	2,419.50	0.00	0.00
65	10" M.J. RETAINER GLANDS-MEGALUG	50.00	71.63	3,581.50	0.00	0.00
66	12" M.J. RETAINER GLANDS-MEGALUG	50.00	104.20	5,210.00	0.00	0.00
67	16" M.J. RETAINER GLANDS-MEGALUG	50.00	190.05	9,502.50	0.00	0.00
68	6" M.J. SOLID SLEEVE LESS ACCESSORIES	10.00	117.50	1,175.00	0.00	0.00
69	8" M.J. SOLID SLEEVE LESS ACCESSORIES	10.00	152.83	1,528.30	0.00	0.00
70	10" M.J. SOLID SLEEVES LESS ACCESSORIES	4.00	228.42	913.68	0.00	0.00
71	12" M.J. SOLID SLEEVES LESS ACCESSORIES	6.00	306.46	1,838.76	0.00	0.00

CITY OF MIDDLETOWN, CT
 Department Review Report
 Bid# 2021-021 PURCHASE OF PIPING, HYDRANTS, MANHOL

#	Description	Qty	CORE & MAIN LP NEW BRITAIN, CT			UNITED CONCRETE PRODUCTS, INC. YALESVILLE, CT	
			Unit-Price	Extension	Unit-Price	Extension	
72	16" M.J. SOLID SLEEVES LESS ACCESSORIES	1.00	769.81	769.81	0.00	0.00	
73	4" TYTON PUSH ON JOINT DUCTILE IRON PIPE - UNIT PRICE PER FOOT PIPE LENGTH (IN FEET)	180.00	27.91	5,023.80	0.00	0.00	
74	6" TYTON PUSH ON JOINT DUCTILE IRON PIPE - UNIT PRICE PER FOOT PIPE LENGTH (IN FEET)	1,800.00	21.46	38,628.00	0.00	0.00	
75	8" TYTON PUSH ON JOINT DUCTILE IRON PIPE - UNIT PRICE PER FOOT PIPE LENGTH (IN FEET)	1,800.00	30.28	54,504.00	0.00	0.00	
76	10" TYTON PUSH ON JOINT DUCTILE IRON PIPE - UNIT PRICE PER FOOT PIPE LENGTH (IN FEET)	180.00	39.63	7,133.40	0.00	0.00	
77	12" TYTON PUSH ON JOINT DUCTILE IRON PIPE - UNIT PRICE PER FOOT PIPE LENGTH (IN FEET)	1,800.00	49.98	89,964.00	0.00	0.00	
78	16" TYTON PUSH ON JOINT DUCTILE IRON PIPE - UNIT PRICE PER FOOT PIPE LENGTH (IN FEET)	900.00	72.29	65,061.00	0.00	0.00	
79	6" POLYVINYL CHLORIDE (PVC) SDR 35 PIPE - 14 FT LENGTHS - UNIT PRICE PER FOOT PIPE LENGTH (IN FEET)	140.00	5.82	814.80	0.00	0.00	
80	6" POLYVINYL CHLORIDE (PVC) SDR 35 PIPE - 6.5 FT LENGTHS - UNIT PRICE PER FOOT PIPE LENGTH (IN FEET)	130.00	5.82	756.60	0.00	0.00	
81	8" POLYVINYL CHLORIDE (PVC) SDR 35 PIPE - UNIT PRICE PER FOOT PIPE LENGTH (IN FEET)	1,000.00	10.58	10,580.00	0.00	0.00	
82	10" POLYVINYL CHLORIDE (PVC) SDR 35 PIPE - UNIT PRICE PER FOOT PIPE LENGTH (IN FEET)	100.00	16.45	1,645.00	0.00	0.00	
83	12" POLYVINYL CHLORIDE (PVC) SDR 35 PIPE - UNIT PRICE PER FOOT PIPE LENGTH (IN FEET)	1,000.00	23.66	23,660.00	0.00	0.00	
84	4" GASKETED SEWER REPAIR COUPLINGS (BELL TO BELL)	12.00	11.54	138.48	0.00	0.00	
85	6" GASKETED SEWER REPAIR COUPLINGS (BELL TO BELL)	12.00	23.04	276.48	0.00	0.00	
86	8" GASKETED SEWER REPAIR COUPLINGS (BELL TO BELL)	12.00	39.14	469.68	0.00	0.00	
87	10" GASKETED SEWER REPAIR COUPLINGS (BELL TO BELL)	12.00	86.84	1,042.08	0.00	0.00	
88	12" GASKETED SEWER REPAIR COUPLINGS (BELL TO BELL)	12.00	126.18	1,514.16	0.00	0.00	
89	4" CLAY TO CLAY SERIES 1001	6.00	22.40	134.40	0.00	0.00	
90	4" CLAY TO PLASTIC SERIES 1002	6.00	32.84	197.04	0.00	0.00	
91	4" PLASTIC TO PLASTIC SERIES 1056	12.00	22.40	268.80	0.00	0.00	
92	6" CLAY TO CLAY SERIES 1001	12.00	42.67	512.04	0.00	0.00	
93	6" CLAY TO PLASTIC SERIES 1002	12.00	55.68	668.16	0.00	0.00	
94	6" PLASTIC TO PLASTIC SERIES 1056	12.00	42.67	512.04	0.00	0.00	
95	8" CLAY TO CLAY SERIES 1001	12.00	63.35	760.20	0.00	0.00	
96	8" CLAY TO PLASTIC SERIES 1002	12.00	63.35	760.20	0.00	0.00	
97	1 FT RISER SECTIONS	1.00	0.00	0.00	90.00	90.00	
98	2 FT RISER SECTIONS	1.00	0.00	0.00	180.00	180.00	
99	3 FT RISER SECTIONS	1.00	0.00	0.00	230.00	230.00	
100	4 FT RISER SECTIONS	1.00	0.00	0.00	295.00	295.00	
101	4 FT DOGHOUSE BASE SECTION	1.00	0.00	0.00	475.00	475.00	

CITY OF MIDDLETOWN, CT
 Department Review Report
 Bid# 2021-021 PURCHASE OF PIPING, HYDRANTS, MANHOL

#	Description	Qty	CORE & MAIN LP NEW BRITAIN,CT		UNITED CONCRETE PRODUCTS, INC. YALESVILLE,CT	
			Unit-Price	Extension	Unit-Price	Extension
102	3' X 48" MH BASE SECTION	1.00	0.00	0.00	335.00	335.00
103	4' X 48" MH BASE SECTION	1.00	0.00	0.00	370.00	370.00
104	4' - 48" ECCENTRIC CONE WITH 24" OPENING	1.00	0.00	0.00	275.00	275.00
105	3' - 48" ECCENTRIC CONE WITH 24" OPENING	1.00	0.00	0.00	225.00	225.00
106	4' - 48" ECCENTRIC CONE WITH 36" OPENING	1.00	0.00	0.00	240.00	240.00
107	48" FLAT SLAB TOP WITH 24" OPENING	1.00	0.00	0.00	185.00	185.00
108	48" FLAT SLAB TOP WITH 36" OPENING	1.00	0.00	0.00	185.00	185.00
109	KOR-N-SEAL BOOT 8" DIAMETER	10.00	0.00	0.00	54.00	540.00
110	KOR-N-SEAL BOOT 12" DIAMETER	10.00	0.00	0.00	74.00	740.00
111	CONSEAL PER 48" DIAMETER (ROLL)	20.00	0.00	0.00	7.75	155.00
112	48" DIAMETER MH BIT COATING PER VERTICAL FT	100.00	0.00	0.00	4.90	490.00
113	HEAVY DUTY MANHOLE FRAME AND COVER TYPE "AV"	1.00	515.89	515.89	0.00	0.00
114	HEAVY DUTY MANHOLE FRAME AND COVER TYPE "AS"	1.00	469.14	469.14	0.00	0.00
115	HEAVY DUTY MANHOLE - COVER ONLY TYPE "AV"	1.00	189.85	189.85	0.00	0.00
116	HEAVY DUTY MANHOLE - COVER ONLY TYPE "AS"	1.00	157.79	157.79	0.00	0.00
117	HEAVY DUTY WATER TIGHT MANHOLE FRAME AND COVER TYPE "B"	1.00	1,348.12	1,348.12	0.00	0.00
118	HEAVY DUTY WATER TIGHT MANHOLE COVER ONLY TYPE "B"	1.00	374.71	374.71	0.00	0.00
119	4" HIGH HEAVY DUTY MANHOLE FRAME AND COVER TYPE "C"	1.00	279.48	279.48	0.00	0.00
120	HEAVY DUTY MANHOLE COVER TYPE "C"	1.00	146.81	146.81	0.00	0.00
121	6" HIGH HEAVY DUTY MANHOLE FRAME AND COVER TYPE "C"	1.00	303.71	303.71	0.00	0.00
122	8" HIGH HEAVY DUTY MANHOLE FRAM AND COVER TYPE "C"	1.00	342.92	342.92	0.00	0.00
123	ADJUST TO GRADE MANHOLE RISER STEEL - 24" X 1-1/4" X 1"	1.00	149.34	149.34	0.00	0.00
124	ADJUST TO GRADE MANHOLE RISER CASTING - 24" X 1-1/4" X 1-1/2"	1.00	119.07	119.07	0.00	0.00
125	ADJUST TO GRADE MANHOLE RISER CASTING - 24" X 1-1/4" X 2"	1.00	135.47	135.47	0.00	0.00
	Sub-Total			729,763.52		5,010.00
	Total of Items 1-125:			729,763.52		5,010.00